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14P/203/31(i)
No. of Questions : 150
et & deAr ¢ 180

25 Full Marks : 450
Time : 25 Hours
m:z% wve quiy : 450

; i o 3
Note : (1) Attempt as any questofs as you carl. Each question carries

W l‘l‘hra:ltmarks_ One mark witl be deducted for mh incorrect

answer. Zero mark will be awarded for each unattempted

St YT T W W g
(2) If more than one alternative anewers seéim to be approximate to .
the carrect answer, choose the closest one.

ﬂﬁmﬁﬁaﬁﬁwwaﬁméﬁmmﬂ,ﬁﬁmﬂ
"t ST |

01, Letfix)= |xj and g {x] = |x?|,thenatx =0
(1) fix) and g(x) are both continuous
(2) fix) and g(x) are both differentiable
(3) fx} is differentiable but gix} ia not differentiable

(4) {(x) is not continuous but gix} is continuous

3 P.T.O.
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02 L — 18
x=+ X -}
(1) o @ n @) XD ) MesD)

2 2
03. The value of the derivative of |[x-1| + [x-3 ]| atx=2is:
(1) cannot be found (2) -2

3) 0 ' 4 2

04. Ifx"'y"-(xﬂrjm,thén % is equal to :

® |

(1)

@ & @ ) 5

O8. [f3*+ 3V-3'*",ﬂtenthcvajuenf%atx- 1, y=1is:

(1) -1 20 @3 1 Y4 3
' | 1
a2 b Belr
06. If° ® Yag, then:
b a ‘24
(1) a=b=-] (2) a-b-,‘m_
- | | A
(3) Tisacuberootofunity  (4) %iaacu‘bamtof—l
4
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07. If a, p, y are the roots of the equation %° + px + q = 0 {with p=0,q=0),
then the value of the determinant :

B v
E:;l‘!is:

(1) O 2 p 3) q (4 p*-2q

I8
08. In the expansion of [x’ —%} , the term independent of X is:

() -, @ 0 3) 1 4 *C,

09. Ifthe coefficients of the middle term in the expansion of (1 + 4
ia p and the coefficient of middle terms in the expansion of
(1+x'areqandr, then: :

(1) p=gq+r° 2} q=ptr
3) r«p+q | 4 2p=g+r

. Arithmetic Mean of 10 consecutive natural sumbers is 'M’, then
0 ‘Ehr; ﬂﬂfhmatic Mean of the next 10 consecutive natural numbers

is:
(1} can not be found (2) M
(3) M+35 4) M+10

% , G, are the geomeiric means of two series of cbgervations
1 ﬂl G {s the engmetric mean of the rativs the corresponding
observations, then Gisequalto:

{1) 'g? (2} log@G, - Iag a,
log G ' G,
S beo (4) log G,
5 | P.T.0.
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12. For fitting a pﬁl}nonﬁd of K™ - degree, there should be :
{1} K Normal egquations in K unknowns
{2) K Normal equations in (K+1} unlknowns
(3) K + 1 Normal equationa in (K+1) unknowns
(4) K + 1 Normal equations in K unknowns

13. In an experiment, a coin is tossed twice. If the aecqnd tosa results
in g hei:d a die ia rolled. The number of elemerits. in the sample
space

- (1} 9 2y 12 (3] 14 4) 16

14. Fwtmmta&.BasmmtaﬂMﬁarandummpenmmt Bc A othen
P(AnB) is equal to ;

1) Py-P(B (2) PA)-1+P(B)
(3) PA)+1-P(B) (4) F{A)-1-P(B)

15, Which of the {ollowing statements is correct ?
{1} Every LPP admits an optimal solution.
{(2) Every LPP admits a unique optimal solution.
(3) Every LPP admits an infinite number of optitmal solutions.

{(4) [f a LPP admits two optimal solutions, it has an infinite number
of optimal solutions.

16, Consider the following statements :
A | The set of all feasibie solutions of a LPP is called the feasgible

region.
B : The set of all feasible solutions is a convex set,
In your opiniun :
(1) Only Ais correct {2) Only Biscorrect

(3) Both Aand Bare correct (4] Both A and B are incorrect
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17. If A and B are two sets, then AN{ANB) equals :

(1} ¢ 2 A 3) B {(4) ANnB
18. A set contains n elements. The power set contains @

(i) n elements (2) n?elements

(3} 2° elements {4) n®elements

19, In an examination, 60% candidates passed in gics, 75% ed
I an examination, 603 candigatos paseed In Py e

(1) 15gx <60 (@) 15¢<x<¢ 75
{3) 35<cxc 75 4) 35¢<x 60

20, fA={1,2,3), B={2,3,4}and C = {2, 4, then the number of
elementsin (A-B}) x (B~C}is:

M1 .. @ 2 @ 3 (4) 4
1-tan*15° |,
21l. Thevalueof]_l_mzm is ¢
(1) ’-";3 oo @ 5 @ 2

22. The value of |sinx + cos x| is !

m s @ @ @ s @) 243
23. lnatriang!bABC,a-S,b=4,.£ﬁ=60"‘,thtnciathermtnfthe
equation :
[1}.c1+4c+9=0 (2) 2+4c-9=0
(3} c*-4c-9=0 4 c?-4¢c+9=0

T P.T.O.
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24. H the angles of a triangle are in the ratio 3:2:1, the corresponding
sides are in the ratio :

(1) 1:2:3 2 _1:-;-:45 3) 2:5 :1 '(4] 3:2:1

28, In a triangle ABC, "“ ";“—“h then the vahue of cos ¢ is :

PPN

1) o @ 3 @) @ 1

26. The least possible value of n for which [E] is real is :

1) 1 (2) 2 3) 3 {4) 4
27. If wis the cube root of unity, then w, w? are the roots of ;
(1) z2+z+1=0 ) -z+1=0
(3) Z-z-1=0 (4) Z#+z-1=0

28. fz+z1+1 =0, then 22° + 220 i3 equal to : _
(1) - @ i @ 1 @) -1

29, The number of vectors of unit length perpcnd.lcularto the vectors
H-J+k and | 1+]+i€ ig :

(1} 2 {2) 1 (3) 3 (4) infinite

30. A force F=2i- lé-pﬁ is acting at & point which i chaplaccd from
point A to B. If the position vectors of A and B are 2{+j+2k and

3i-j+2k respectively, the work done by the force is :
{1) 2units (2} 3units (3) 4units - (4 5units
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31. Aforce F=i+2j+3k isacting ata point A whose position relative to
origin is j+}+k - The moment of the force about the origin is :
() i+2j+k (2) j-2i+k

{3 i+j-2% 4) i+j+2k

a2, If the vectors a =3i+ -2k b=—i+%+dkand ¢ =4i-2i+2k form the
sides of a triangle, then the value of Lis:

(1) 2 (2) -4 @ -6 [4) &

33. A rigid body is rotating at 2.5 radians per second about an axis
AB, where A and B are points {-2%j+k and 3i-4j+2k. The velaqty
of the particle P of the body at the point i -j-k is:

(1) i-sj+6k (2) -2i+13j+8k
(3) zi-j+k ] 5i—4]+6k

34. Find ‘a’' such that the vectors 2i-jk i+2j-3k and 3{ +nj+5k are
coplanar :

(1 -4 2 4 @ -2 @) 2
' ‘ ing at marks 1, 2,
38, Weights of 1gm, 2 gm, ..... 100 gm are hanging &
100 of a metre-scale. The scale will be balanced at the point
marked as ! :
{1) 50 2) B0 (3] 65 . @) 67
9 . ' P.T.O.
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36. A body of weight 4 kg rests in limiting equilibrium ex an inclined
plane whose stope is 30°. The normal reactions amgd co-efficient of

frictions are, respectively :

(1) 2«5@,;% - 2) zqgk&:%;
1

@ 342 o 4 W2 k‘"jlf

[

37. The semi-vertical angle of cone of friction iz 30°, The co-efficient
of Iriction is : P

i 1 Jg S 11 1
(1 2 - -
N 1 - _t3) ; B 3
38. A uniform rod rests entirely with in a smooth aphérim] bowl. fts
Inclination to the horizontal is *
(1) @° (@) 3o (3) 33° -4} 45°

39. 4:;1 I:;ndy nfa?tiﬂing along a straight line traversed one-third the

stance with a velocity of S m/s, The remaining part of the

distance was covered with velocity 3 m/s for half the time and
with velocity 2 m /s for the other half of the time.

:!-illf ;:erage velocity of the body over the whdlei”tim& of motion

(1] 2m/s @ 2.5 mfs (3} 3m/s 4 Sm/s -
40. A projectile is thrown with-an initial wlooijgrf ;f;[piq-,q}]uﬂg . If the
. E:cmtgq'of the projectite is double the maximum height reached by
it, then : v "

(1) P=29 {2) q=4p . (3} q=2p @) g=p

10 -
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41, Thepoﬁumofaparﬁdex[mmmqmaﬁmetmondmgwm
by the relation :

£ m3el-tijeak

The magnitude ol‘\ralodtyﬁnmh]ofﬂwparﬂcleaﬁers seconds
is:

(1 Jie2 (2) 09 (3) Jiio (4 Vi

1 1
42. Ha—cmmmmﬁl‘then
(1) a, b, carein AP {2) a,b,carein HP
111 5
(3) a% b4 ciarein AP {4 =35 are in AP
L E-Theﬁl-l--l—-!-l-l--meqﬁaln:
W Ug+mtryr-=§ o U
; % % L
m % @ 3 ® 5 4
44, fs=1+a+al+.... ym<l)thena="?
- ¥ Ul q =2
(1! — @) 13 ) — (4

45, Theaumofinxegm'i&nmltaﬁﬂthatmdiﬁﬁhlehyzoﬁis
(1) 330 (2} 1230 - (3) 1560 {4) 1830

11 P.T.O.
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46. The fifth, tenth and fifteenth terma of a GP are p,q,r respectively.

Then ;
(1) pP=qgr (2) @*=pr
(8) r=pq (4) pgr=1
: ' 1 3 7 IS .
47. The sum of n terms of statgtgtis:
(1] n+2r-1 ‘ (2] n+2mal
3) n-29-1 4 n-22-1
48, The value of zl:‘ﬁ"is -
(1} 2t @ 20 @) 2-1 @ 241

49. The sum of the digits in the unit place of alt the four digit numbers
formed with 2, 3, 4, 5 taken all at a time, is :

() 14 2) 42 3} 84 - (4) 336

80. The area of the figure bounded by the curves ¥y = e, ¢* and the
straight linex = 1 is ; | |

(1) e+e?! ' (2) e+e1-2:
3) e+e?-1 4) e-el+]

81, ‘I‘hcurﬂmcentreoft]mu'ia.ngleformadbyx-a,y-4m1d4x+3y
= 12 is at the point ;

g

LB @ 04 @ G2 W Ee

13
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82. The lines represented by the equation Ax® + 2Bxy + Cy? = O are
perpendicular, if

(1] A+B=0 () A+C=0
(3) B+C=0 4) AC=-1

83, The medians AD and BE of the triangle ABC with vertices A (0, b),
B (0, 0} and C {a, 0) are mutually perpendicular is :

{1) a=b 2) ab=-1
{3) a=+/20b 4) b=t22a

84, The circle x? + y2— 4x~ 6y — 12 = 0 cuts an intercept on x - axis of
length : .
(1) 8 (@ 6 3) 4 | 4 2
85. Thecirclesx’+y?=landx¥® +y?-2x~2y-1=0:
(1) do not intersect @) touchinternally
(3) touch externally _ [4) intersect at twa points

86. The vertex of the parabola y* - 6;-2y+ 13=0is:
(1 (2,-1} @ 213 B 2-1) 4} (2, 1)

87. Ii(a, 1) 18 the ‘mid- point of a chord passing through the vertex of
the parabola y* = 4x, then :

{1) 2a=1 (2] a=1 [3) a=2 4 al=1

13 P.T.0.

L]
gcollegedunlae
India’s largest Student Review Platform

—



14P/208/3111)

3 : '
58. Pis avariable point on the ellipse fr"":'r'l with AA' as the major
axis. Then the maximum value of the area of the triangle APA'is :

M zs @ e

(3) 2ab | (4 None of these
89. The line x = at’ meets the ellipse at real points if, and only if ;
(1) Jtfsl (@ |tis2 (3) |t|=22 4 Itiz1

60, ifx=>51is the chord of contact of the hyperbola x2 - -y* = a, then the
aquaﬁmnfthemmpmdhgpﬂrnftnnmis

(1) 25:" 16y°-90x-81=0
{2) 25::’ ~16y*-90x+81=0
(3) 26x1-16y2+90x+81=0
(4) 25x3-16y*+90x~-81=0

61, The ASCll is & : )
(1} 7 bit code (2) 12 bit code
(3] 4 bit code (4} 6 Dbit code

62. Which is the correct of in the f
ot sequence of steps operation of a basic

(1) Fetch, mte.' decode (2) Fetich, decode, execute
(3) Decode, fetch, execute (4) Execute, decode, fetch

14
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63. The contents of an 8-bit registerare b 111l. I the

represented number is in signed - 1's complement form, the
decimal equwalent of the number is :

(1} -127 {2) 127 {3} 128 (4) -0
64. USB stands for:

(1) Universal Standard Bus  {2) Universal Serial Bus

3) UnifiedStandardBus (4] Uniform Serial Bus
68. level 1 cache 'is aform of . |

(1) processor . (2] input device
(3) ‘output device " .4 memory.

.66. The number of hits required to encode 30 pieces of information is
1} 4 (2 5 3.6 . W7

67. Which of the following is not a valid library function in the C

programming language ?

(1) peek(} (2 poke(] (3 atoc()  (4) malloc()
68. What is the output of the following C-program 2

# include <#tdio. h >

void main ().

char letter =z’ ;

print £(“\ n % c", letter) ;

(1) =z HE (2) 80 -

{3) Exror (4) Garbage value

18 P.T.O.
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69. Specify the output of the following C- program :

# inchade < stdio, h>

void main (]

{

intfa=10,b=20;

charx=1,y=0;

if (8, b, X, ¥}

{

print f ("EXAM") ;

)

} | |
(1) AM is printed . {2} EXAis printed

{3) Compile error {4} None of the above
70. Hexadecimal equivalent of Octal 1217 is :

(1) 1217 (2}  O28F (3) 2297 {4) OBI?7

71, In a certain code language 'COMPUTRONE' is written as
'PMOCTUENOR'. How is 'ADVANTAGES' written in the same

code ?

(1) IDUJLAIC (2} AVDATNSEGA

(3) ADVATNSAGE . (4] AVDANTSEGA
72. HCAT = 12then MAN = ?

(1} 14 2) 24

(3} 16 (4) None of these

16
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73, If 'Lily' is called 'Lotus', 'Lotus' is called ‘Rose’, "ROSE is called

'Sunflower’ and '‘Sunflower is called ‘Marigatd' , then which will be
the national flower of [ndia ? :

(1) Lily - (2) Lotus
(3) Rose (4) Marigold

Directions {Q No. T4-76) : In each of the following questions,
there is certain relationship between two given words on one side
of "' and one word is given on the other side of it, while another
word is to be selected from the given alternatives having the same
relationship with the word, as the words of the given pair bear.

Chosae the correct alternatives :

T4. Malaria ; Disease :: Spear : ?

{1} Wound (2} Sword

{3) Weapon ' | (4) Death

76. Food ; Stomach :: Fuel : ?

76'

(1) Engine (2) Plane
{3) 'l‘rﬁck | (4) Automobile
Five : Ashes':: Explosion ;: ?
(1} Flame {2) Death
(B} Sound {4) Debris
17 : P.T.0.
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Directions (Q.Noa. 77- 83} : The following questions consist of
two words that have certain relationship between each other,
followed by four letter pairs of words. Select the related pair that
has thé same relationship as the original pair of words :

77. Fodder : Cattle :: ? |
{1} Pen:Ink (2) Ball: Stick

{3) Fruit: Juice , {4i Grass : Horse
78, Horse: Hoof :: ?
{1) Men: Foot (2} Dog: Black’
{3) Paise : Rupee (4) Pen : Pencil
79. Sailor ;: Compaas :: ? :
(1} Student:Exam (2) Doctor : Stethoacope
(3} Pen :Officer | (4) Painter: Artist
80. Cells : Cytology :: ? |
(1) Worms : Ornithology (2) Insects: Entomology
{(3) Diseases : Fhysiology (4) Tissues : Morphology
. 81, Sin:Crime :: ? |
(1) Man : Animal (2) Home:cm'rt_
(3) Morality : Legality [4) -Jury:Priest
82. Men: Mammal ;; ? |
(1} Liberty: Literate (2) Hail: Snow
(3) Native : Inhabitant (4) Offepring : Family
18
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83. Spring : Elasticily :: ?

(1)

3)

Person: Whims
Markéﬁng : Advertising

@
' (4) Radio : Broadcast

14P72303/31{i).

Wool : Warmth

. Directions: [Q.Nos. 84 - 90) : In each of the following questions,
~ four pair of words are given, out of these words one pair does not
bear the common relatwnshxp which rest bear. You are required
to find that odd pair :

84. (1)
(3)
88. (1)
{3)
86. (1)
{3)
87. (1)
(3
88. (1)
(3)
89. (1)
(3)
90. (1)
[3)

Needle - Prick
Auger.- Bore
Lion - Roar

Bees - Hum

~ Dim - Bright

Shallow - Deep

Oil - Lamp

Oxygen: - Life

Cat - Mouse

Cow - Hen

Captays - Team

Chief Minister - Cabinet
Hard - Soft

Sweet 4 Soar

19

(2)Gun - Fire

(4)
(2)
(4)

Chisel - Carve
Snake -
Frog - Bleat

(2) Wrong - Right

4)
(2}

/)
(2).

14)
(2)
(4)
(2)
(4)

Gernuine - Real .
Water - Tap
Power - Machine

Lion - Dear

Hawk - Pigeon
Boss - Gang =
Artiat;- Troupe
Poirited - Blunt
Long - High

Pl Tlo--
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91. A man starts from a point X' and walks 3 km southwards, then he

truns%eﬁmdwatksﬁhn lnwhmhdmctlomahefmmﬂ'xestamng
point

{1} South - West {2] South - East

(3) West (4} South

. Ramand start walking in site directions. Ram covers
ﬁkmandagl am & km. '[hcnR:gpi?umanghtandwa}kthn

and ShyamtumaLeftandwalkska How far everyone ia from
the starting point ?

(1} 11km 2) 8km B8) Ykm 4} 10km

93, If 18" Fe , 2009 is a Friday, then what will be the day of
18% February, 2011 ? oay

(1) Sunday (2) Monday (3} Tuesday [4): Wednesday
94. Which number, in the given series, iaw}ung ? I

160, 118, 83, 65, 34, 20

(1} 83 . {2) 118 (3} 34 4) 65
98. Find the missing number in the following :

(1) 1 (2) 26 (3) 39 (4) 45

20
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96. If (i) 'A-B' means ‘A is father of B'
(i) 'A + B' means 'A is daughter of B’
(iii) 'A+ B' means 'A is son of B'
(iv} ‘A x B' means ‘A is wife of B’
Which ot‘;he following means P is grandson of § ?

(1) P+Q-8 @) PsQxsS

3) PeQeS 4) PxQ .45
97. Today is Monday. After 61 days, it will be :

(1) Wednesday @ Saturday

(3) Tuesday @} Thursday

98, Consider the statement :
A=BCeD=E<PF
ConclusionsI: F>B
1:Bz2D
In your opinion :
{1} Only conclusion I follows
(2) Only conclusion [I follows
(3) Either conclusion I or II follows
(4} Neither conclusion I nor Il follows

1
!

2l P.T.0,
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99, Consider the statement:.
Imprisonment for 27 years made Nelson Mandeln'the President.

Assumptions

[ : Only who will be imprisoned for 27 years will become the
President.

Il : To become the President, imprisonment is a qualification.
In vour cpinion :
(1] Only Assumption 1 is implicit
(2} Only Assumption Il ia implicit
(3) Eitherlorllisimplicit .
(4] NeitherInorllis imp]it.;,it
100. How meny times are the hands of a clock at right angle in & day ?
(1] 22 (2) 24 B 44 [4) 48
101. Karl Pearson's cocfficient of akewness is given by :

AM — Median . AM —Mode!
(1) 'SD (2 Sp

Median — Mode . AM ~Mode
(3) SD | - 4] “Median

102. If standard deviation of {X, , X,, ......, X } is S, then the standand
deviaron of { 1-2x,, 1-2x,, ..., 1 -2 X ) is equal to

() 1-28 (2} -28 (3) 28 (4 1-8
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103. IfX and Y are two variabies such that SD (X + Y) » SD (X~ Y] then :
(1] -12r{X,Y) <0 @ 0<srX, Y1 <1
3) rX,Y)=0 4 rY)=+1

104. If two lines of regreasion af‘f on X and X on Y are respectively
a,x+b y+c,=0andax+by+c,=0,then: |

‘1] a, a, slblhg (2} albﬂsa,"bl
(3) 8,b,>a,b {4 a,8,>b/b,

108. For any two events A and B, the probability that ¢xacl:hr one of
the two events occurs, is given by :

{1} PA}+PB)-P(A ~ B) 2} PA)+PB)-2P(A~ B
(3) 1-P(A ~ B) @4 1-P(A L B)

106. A fair coin is tossed repeatedly. If head appears in first four tosses,
then the probability of head appearing in the fifth toss is :

1) 5 @ s B 3 @ 2

107. Consider the LPP:
Minimize Z = 3x + 5y
subjettox > 3;y2 1;2x+y2 5
Redundant :onsbaint in this LPPis :
(1) 2x+y35 (@ yal
3) x>3 (4) None of thece

33 P.T.O.

L]
gcollegedunlae
India’s largest Student Review Platform

T



14P/203/3111)

108, Solve the LI-:'P:
. Maximize Z = 2x + 3y

Subjectto X < 3,7y < 3;8*¥< 5 x,y20
What do you find ?
(1] Optimal aﬂutiunishtx~2,y=3; Meximum value of Z = 12
(2] Optimal solution is at x = 3, y = 2; Maximum value of Z = 12
(3} Optimal sclutionisatx=3,y=2; Ham‘mmn value of Z = 13
(4) Dpﬁmakmluﬁnnisatkﬂﬁ,}'ﬂa;Ma.ximumvalueafz?-13

105, If sets A and B ere defined as :

A={{x,y)|y=e,\xcR}
B={x.ylly=x. xR

Then :
(1) AcB (2} Bc A
By AnB=y 4 AuB=~A

110. In a battle 71% of the combatants last an eye, 82% an ear, 74%
an arm and 83% a leg, If X% lost all the four limbs, then the
minimum value of x :

(1} can not be determined - (2) 10 .,
(3} 7L ' (4] None of theae
111. Iftanbtan 2 0 =1, then @ =?

(1) g @) mEr (3 el (4) Zme

n

a4
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112. Ifsin x + sin 3x + sin Sx = 0, ﬂuenthev&lueﬁfxsuchthat.

O<xg 7i8:

o

n 5 @ 3 3)

12 ) 3

Bk

113. The equationacosx+b gin x = ¢ where |c| > Ja* +b* has:

(1) no solution

{2) a unique solution

{3) two solutions

{4) an infinite number of solutions

114. The domainof sin!xis:

M (LY. @ Fad @ 026 @ F9)
118. tan" (;1;] * tarr [EJ -2

0 te{is) @ tom{36)

@ tan(%) @ (Ywel3)

116. If the sides of a triangle are 7cm, 443 cm and /i3 cms
respectively, then the smallest angle is .

() 15¢ (@) 30° (3) 45° 4] 60°

25 P.T.O.
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117. fb=3,c=4, AB--— thenﬂ:enumberofmangtesthatmaybe

constructed is :
(1) 0 @1
@2 (4) - Infinite

118. The angle of etevation of the top of an incomplete vertical pillar
at a horigontal distance of 50 mt. from its base is 45°. If the angle
of elevation of the complete pillar at the same point is to be 609,
then the height of the incomplete pitlar is to be increased by :

(1} 25mt (2) 50 (v3-t) mt,

(3] 50mt (4 50 (3+1)mt

119. If every pair from the equations x# + px + gt = 0; x’+qx+pr-0
and x% + rx + pq = O has a common root, thmme;pmdu«ct of the
three commeon roots is :

(1} Jpar (2] por (3) p®  4) Zpgr

(1} 4 2 6 .« (3 8 4) 10
121. The number of real roota of the equation :
|x|?-5|x| +4 =0,
is !

) 1 2 2 3] 3 . 4) 4
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122, !ftheratwnfthemotsofx“+bx+c=0andx’+qx+r-Obethe
same; then :

(1) bPq=cr? (2] Pr=g’c (3} bg=cr (4) br=cq
123. The number of roots of the equation :
Ogec’g-9secot2=0,

is: .
() 0 - (2) 1 3 2 4) 4

124. There are 4 leétters and 4 directed cnvclnf}a The number of ways
all the letters are placed in a wrong envelope is

(1) 6 (2) 8 (3) © (4) 12
128. Four men and four women are to sit around a circular table

such that there is a man on either side of every woman. The
number of seat:mg arrangements 1s :

(%) 3!*41 (2) (3 (3) (4)? [-’-1]'.!2(:;’:!}2

126. If the suin of the co-efficients in the expansion of (a + b]‘* is 1024
then the Tarpest coeﬂimcnt in the expansion is :

(1} 84 (2] 126 {3) 168 (4) 252
127. Consider the following statements :

A : Matrix multiplication is associative.

B: Matrix multipHcation is not commutative, in general.

' C : Produclof two matrices may be a null matrix, while neither of
them iz a nuil matrix.

In your opinion :

(1) Aisincorrect
(2) Bis incorract
(3) Cisincorrect

(4) All the three statements are correct

27 ' P.T.O.
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128. From the matrix equation AB = AC we can concliaide B = C
provided A is :

{1) Singular {2) Non-singular
(3) Symmetric {4) Sgquare o
129. Consider the following statements :

A ‘Hm'fnh}% -a*;B-ﬁm[l-bi] e
112 L= X

In your opinion :
(1} Only Ais correct {2) Only B is correct
(3} BothAandBarecorrect (4). Both A and B aire incorrect
130. Ifxi'-a".a.bbeingcnnatants.mm% =7
. . K
y - y log X ¥ e X
1) X log x 2 ® -ogx 9 Fiagx

x
131. Iftan! 4x + tan™ 6x = T~ , then x equal to ;

m o @ -5

@ - (4) None of these

132. If u is the coefficient of friction between two bodies in contact,
then : TR

(1) Ospsl (2 -1spst (3) ~2SHS= (@) p>l
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133, For 251-5“. ncr+2ncr-l + ncr-ﬂ =g

(1] nﬂcﬁi [2} 2 nflcrﬂ (3] 2 ni-ncr (4} n+2cr
134. If{ (x) = — , then{ (2x) is :
f{x)+1 Mi(x) +1 fix)+3 fix+1)

1l Fn+3 2 T3 B et 4 Fo+3
135. The line x + y = 6 ia normal to the MIaf = 8x at the point !
(1} (4,2) 2 @24 (3 22 (4) 13,3

136, The largest revenue source in India is :
(1) Railways (2) Sales Tax
(3) Excise Duty (4} Direct Tax

137. Which of the following is mot provided in the Constitution of India ?
{1} Election Commission (2) Finance Commission
{(3) Publi¢ Service Commission (4) Planning Commission

138. Which of the following cities is known as the commercisal capital

of India ?
{1} New Delhi (2) Kolkata
(3) Chennai (4] Mumbai

139. Who fou;ndad the Bharatiya Janasangh ?
(1) Dr. Shyama Prasad Mukherjee

(2) Deen Dayat Upadhyaya
{3) Veer Savarkar -

(4) Atal Behari Vajpayee

- a9 - P.T.0.
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140, Tides in sea are caused by
{1) Effectof Sun
(2) Effect of Moon
(3] Combined efect of Sun and Mocn
(4} Gravitational, centripetal and centrifugal forces
141. Polio myelitusis a type of : |
{1) bacterial disease (2) virel disease

(3) fungal discase (4) none of these
143, Who is the present Governor of Reserve Bank of India ?
(1} D.Subbarac (2) C.Rangarajgn
(3) Raghuram Rejan {4} Osborne Smith
143. What is the name of the first antibiotic discovered ?
(1) Pennicilin | (2) Streptomy;:j:;ip
(3} Actinemycin (4) Teu-gcycline' |
144, The next Common Wealth Games will be held in ;
(1} Edinburgh 2) l{ualg L?étqllmr *
{3) Glasgow (4) Gold Coast
145. The President of India can be removed from his ofﬁpe by the :
(1) Prhne Minister (2) Lok Sabha
(3} Chief Justice of India (4] Parliament
30
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146. Fill in the blanks by selecting one from the given alternatives :

fam, you fﬂ:lil :‘ﬁtﬁenoon," . Mondya 3 O'clock
(1) in,on, at {2} at,on,in
{3] on,at, in (4) in, at, on
147. What is the synonym of 'Crucial' ?
(1) Active (2) Dependent
(3) Extremely important (4) Reserve
148. "Birds of same —  flock together. "
Fill in the blank from the given alternatives :
(1) feathidt (2} colour
(3 group” (4) foreign
149, "My hcat'fffénd, Jehn, is named ____ his grandfather."
Fill it the g!ap by the appropriate alternative :
{1} to | (2) about
(3) aﬂ*er! {4) on

150. Fill in the gap by the alternatives :
"I told you ai:;'rfmt the incident yesterday,
(1) didn't (2} don't
{3) do (4} did

31 7,500
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